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QUESTION NO: 1

Which type of voice port will allow the gateway to terminate 23 or 30 circuits from the PSTN or a
PBX?

A. FXO

B. FXS
C.PRIT1/E1
D. E&M

E. BRI

Answer: C

QUESTION NO: 2
In which of the following scenarios would a Cisco switch supply PoE to an IP phone?

A. In any cases as long as the switch and IP phone are Cisco products.

B. If the Cisco switch supportsprestandard PoE and the IP phone supports 802.3af.
C. If the Cisco switch and IP phone both support a commonPoE method.

D. Only if both the switch and IP phone use 802.3afPoE.

Answer: C

QUESTION NO: 3

The SBB Company is setting up Call Transfer for its Cisco Unified Communications Manager

Express solution. The company uses five-digit extensions and would like to be able to transfer
calls outside the network to the CEO's home. The CEOQO's telephone number is 866-555-2222.

Which configuration command will allow this to occur?




SBB(config-ephone-dn)#transfer-pattem .T

SBB(config-telephony-service@# transfer-pattern .T

CC.

SBB(config-ephone-dn)# transfer-pattem .....51212

C D.

SBB(config-ephone-dn)# transfer-pattem 8665552222

SBB(config-telephony-service @ transfer-pattern 86655.....

0 e T &
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SBB{config-telephony-service @ transfer-pattern 8665552222

A A
B.B
C.C
D.D
E.E
F.F

Answer: A

QUESTION NO: 4

Refer to the exhibit.




Cisco Unified Communications Layers

Voice Mail ~ Presenc Contact Center
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Which Cisco Unified Communications layer is the call processing layer?

A A
B.B
C.C
D.D

Answer: C

QUESTION NO: 5

Refer to the exhibit.
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ActualTests

Which two statements about SIP trunk are true? (Choose two.)




